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Vol =
FER N E
TH4 | SHEEHERFE NEEERE L F
TEHEX Sy - THE - R B {7 % & # il pall 2! R
B A& = 21, 286, 799
EEEET = 19, 446, 682
Y-~ =4 T 2 19, 446,682 | (1%)
BIEIA-N" -V (A , 170 m2
TemZ Bz 12embh T 8 /B AsE R IR (20)
HA%ZDS =5000 t/Z AsHRL 1175 (20) DS5000 ; 497
1-h BEMAIAE T
s (R B A 317 m3
AT % (BIH)
By 317 m3
A% (BT
X JEj R L 2 734, 621
X IR T 2 734,621 | (F&R)
e il = X R 680 m
R TE) FE8R 15em JE 1. Smm HEAMESEE M
A,
e il = X R 17 m
R TE) AER 30em JE L. Smm HEAPE LS A
A,
e il = X R 290 m
R TE) FE8R 15em JE 1. Smm HEAPE LS M
L
a2 X R 230 m
RN FE) 7777 45em JE 1. Bmm PEAK P AL
Hfa
a2 X R 31 m
R TFE) KE-FR5 - 30T 5o JE 1. Smm
PSR A6 ;
HEE L = 14, 456
-1- TR TSR
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oY ol SN
FEAENGRE
T | EEHERE NS SR T E
TEHX4y « Tfd - FER B Az W B & #A i il A R
EERUE L T = 1 14,456 | (#Z[)
ELERR O W 17 m
TAT7VMEREERR 15emPA T 5 /KB & e
A = 1 1,091, 040
B EHT = 1 1,091,040 | (F&R1)
RBFHEEHE 1 X
[ERAE Xy = 1 21, 286, 799
HiE R 2 1 4, 547, 400
BISTIGE: = 1 530, 400
TERE 2 1 194, 600 | Ht AR AR e Y 1 =
Bl s gy 2 1 58,800 | MEHERYFAT ~IERE 1 F
BGRESGESE (5 L) = 1 277, 000
B (FEHL) = 1 4,017, 000
T = 1 25, 834, 199
Bl gy 2 1 10, 602, 000
T =5l = 1 75, 111, 321
— R A 2 1 12, 368, 679
TS 2 1 87, 480, 000
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Vv = =
FER N E e 5
T4 | BEMERE NS ERE T E
TEHEX Sy - THE - R B {7 % & # il pall 2! R
B A& = 12,711, 403
EEEET = 10, 881, 849
GIEIA-N - T 2 10,881,849 | (1)
BIEIA-N" -V (A 335 m2
TemZ Bz 12emPA T 8 dUEAsB kL T (20)
HA%ZDS =5000 t/Z AsHRL 1175 (20) DS5000 ; 497
1-h BEMAIAE T
BIHI4-n"-V4B 2, 550 m2
TemPl F —f8 B30 O 8 B AsERL 1T HY
(20) HAEDS=5000 ; 4y/a-b, BEMEHA G T
s (& B A 161 m3
AT % (BIH)
By 161 m3
TA77 bk (IEID)
X JEj R L =X 866, 390
X IR T 2 866,390 | (&)
e il = X R 830 m
Rl CFE) R 15em JE1. 5mm HEAKMESHIE M
A,
e il = X R 380 m
RN FE) bR 15em JE1. 5mm HEAKMESHAE M
A,
a2 X R 18 m
Rl CFE) R 30em JE1. 5mm HEAKMESHIE M
A,
a2 X R 200 m
Rl CFE) R 15em JE1. 5mm HEAKMESHEE M
L
a2 X R 83 m
RN FE) 17777 45em JE 1. Bmm PEAK P AL
Hf
-3 - E2RRiEg s i S
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== /oA = =
FEAENGRE e
T | EEHERE NS SR T E
TEHX4y « Tfd - FER B Az £ & #A i il A R
T =X T R 120 m
ERLCTE) KHI- 505 30T 15emifa%E JE1. Smm
PEAKPEERE®E A,
HEYE T = 8, 504
EERUE L T = 8,504 | (#&[#)
ELERR O W 10 m
TAT7WMEREERR 15emPA T 5 /KB & e
A Y 954, 660
B EHT = 954,660 | (&)
RBFHEEHE 1 X
[ERAE Xy = 12,711, 403
HiE 2 = 3, 058, 600
BISTIGE: = 378, 600
TERE = 194, 600 | L% bl R 2y 1 =
BGRESGESE (5 L) = 184, 000
B (FEHL) = 2, 680, 000
T = 15, 770, 003
Bl gy = 7, 064, 000
T =5l = 22, 834, 003
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Vol =] =]
FEENRE s
TH4 | SHEEHERFE NEEERE L F
TEHEX Sy - THE - R B {7 % & # il pall 2! R
B A& = 8,474, 519
EEEET = 7,263, 060
Y-~ =4 T 2 7,263,060 | (%)
BIHI4-n"-V4B 2,100 m2
TemPA N —J@ B3I 0 D78 B AsE B IR
(20) AAEDS=5000 ; ¥y7a-b, BEMAHIA E Tp
s (R B A 105 m3
AT % (BIH)
By 105 m3
A% (BT
X [E L = 515, 953
X IR T 2 515,953 | (F&f)
e il = X R 400 m
R TE) FE8R 15em JE 1. Smm HEAMESEE M
A,
e il = X R 140 m
WA T8 AR 15em R 1. 5mm HEKMEAHHE T
A,
e il = X R 97 m
WA T8 AR 30em JE1. 5mm HEK VAR T
A,
a2 X R 210 m
R TEh FE8R 15em JE 1. Smm HEAPE LS M
L
a2 X R 68 m
R TEh FE8R 30em JE 1. Smm HEAPE LS A
L
a2 X R 29 m
R TFE) KE-FE5 - 30T 5o JE 1. Smm
PSR A6 ;
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== /oA = =
FEAENGRE e
T | EEHERE NS SR T E
TEHX4y « Tfd - FER B Az £ & #A i il A R
HEYE T = 13, 606
EERUE L T = 13,606 | (#&[#)
ELERR O W 16 m
TAT7VMEREERR 15emPA T 5 /KB & e
A Y 681, 900
B EHT = 681,900 | (&%)
RBFHEEHE 1 X
[ERAE Xy = 8,474, 519
HiE 2 = 2, 240, 600
BISTIGE: = 296, 600
TERE = 162, 600 | L% bl i 2 1 =
BGRESGESE (5 L) = 134, 000
B (FEHL) = 1, 944, 000
T = 10, 715, 119
Bl gy = 5, 126, 000
T =5l = 15,841, 119
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